
1D Using de Moivre to Prove Trigonometric Identities 

 

 

 

 

1. Express cos3θ using powers of cosθ. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



2. Use De Moivre’s theorem to show that: 

𝑐𝑜𝑠6𝜃 = 32𝑐𝑜𝑠6𝜃 − 48𝑐𝑜𝑠4𝜃 + 18𝑐𝑜𝑠2𝜃 − 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  



Further notes:  
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3. Express cos5θ in the form acos5θ + bcos3θ + ccosθ  

Where a, b and c are constants to be found. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



4.  

a) Express sin4θ in the form: 

 

𝑑𝑐𝑜𝑠4𝜃 + 𝑒𝑐𝑜𝑠2𝜃 + 𝑓 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

b) Hence, find the exact value of the following integral: 

∫ 𝑠𝑖𝑛4𝜃  𝑑𝜃
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